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L001120001 N2 ov—y Y 77 ] 4.9t H 0.17 4, 964
L001130006 FTTV= )=y LI EY T 77 ] 251 H 5.238 224,177
L301010250 FTTV= )=y LI EEY T 77 ] 16t/ H 17. 732 673, 816
1301020030 REEWER (152 7.5~7.8m3/min H 1. 662 4,372
L301040030 Jon OG0 B #60~80kg A 1. 358 859
000202090 Ny IRy (=71 (AR AR - R AR o Y ) e Ak SR (B3R FEHEAED) 17550, 8m3 M H 2.339 49, 593
M000301005 VARV EVAR S N e A 10t F&k fiH H 14. 934 304, 618
M000701015 =407 =47 [T - B0 A SR (B527K%) ] 77 V=F 3. Im i A 2. 036 37,242
M000801009 n=b"n=7 [ b e AR (B52%) IR 10t FFEDIE2. In (EERE 2.121 28, 821
M007500147 CE VA d ) KB ITRES) ¢ 40mm A 15. 47 4,575
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PEIGTMEERT U A b (BRAR)

TH4 R(gi&i Afnfeuiige ORHIX) 383 - AFMEIE  BOmite T
Bz — A Bl HAL Hoe S T
M302451000 Ny iy (Fe=7) R HERY - Pt Y (B520%) FRYEN o MR L. 8m3/ F-FH0. 6m3 (N 0. 653 12,018
M302460000 Ny (Fe=7) R AERY - Pt Y (55 17%) FEYEN ry MY B (LFHO. 45m3/F-F50. 35m3 (N 0.518 5,174
M302590000 VAMZAN VIV AR P4t SRS AP e A 10tk HH H 3.183 64, 890
M303580000 S EE L)) =17 V0] B & 20kghk A 7.723 752
BRI 1, 498, 862
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I%4 R2)kt BMEEER(FHMK) £R-BFEHE BHHRIE2)
223 & By B fify e

JL—Fi& T-14 [J900 | 79,700

1" T-14 1400 | 155,000

I5vT 7 —bk ¢ 1000 8 2,010,000

2oy 303%308 8 2,510

non&E VIS 3637 m3 1,600 |EHkEERE L=22.5kmLLTF
" 2 1% m3 2,181 [\EHMEEERE L=15.5kmIATF




0 B R OE
N R
T f# i Al 4 R HAr | B B g B
+ T
(AR (BEZKHR)
N R m3 97 43.3 + 54.0 = 97.3
(AR (BEZKHR)
MR LD +-ab m3 33 4.6 + 27.9 = 32.5
L m3 95 94.9
7 E R m3 210 209. 9
7% - )y +-ab m3 234 234. 1
P T
R | 2.5=W<4.0m| m3 111 110.9
Bt | 2.5=W<4.0m| m3 225 224. 8
CADFFH
CofifiZ& t=20cm m2 143 142.7
AT
(15 HagkE) (2% (1) o BE)
a7 U—h | ock=18N/mi | m3 511 320.6 + 190.0 =  510.6
(15 HagkE) (2% (1) fioBE)
P —f% - JERT | m2 372 224.1 + 148.0 = 372.1
(15 HagkE) (2% (1) o BE)
T % Feki m2 231 136.8 + 94.0 = 230. 8
(175 HagkE) (2% (1) fioBE)
o, HAEMER [ Hm2 213 126.2 + 87.0 = 213.2
(15 HagkE) (2% (1) fioBE)
Fo LT 3cmlLF m?2 95 51.0 + 44.0 = 95.0
(15 HagkE) (2% (1) o BE)
SR t =200mm | m2 98 60.7 + 37.0 = 97.7
D16 SD345 (175 BE) (2% (1) fioBE)
7= L=700 N 558 318 + 240 = 558
GRS
& HlFL | D16/ L=350| %L 558 558
(175 BE) (2% (1) fioBE)
1R KB C F200X5 m 23 15.6 + 7.6 = 23.2
(175 BE) (2% (1) fioBE)
2y F8— | $19 - L =600 A 49 33.0 + 16.0 = 49.0
GRS
f ¥y vy 7 | ¢25+ L=300] A& 49 49.0
(17 BE) (2% (1) k)
H Hipt VEFHEE t —10mm]| M2 46 36.6 + 9.5 = 46. 1




A /A E \/ \
ii I=EA rv/Au:,\ EFE‘ 2%
2 R
T ff i Bl A AL [ B EEGE S
t=20cm (15 kE) (28 (1) fake)
Coffidt18IH | o ck=18N/mit | m2 23 13.2 + 10.0 = 23,
t=20cm (W) (L)
ek Cokit o ck=18N/mfi | m2 840 7.0 X 120.0 =  840.
=7 (A) (L)
JEH! m3 336 840.0 X 0.4 = 336.
PEK T
3 KM & P 1
4 SR & P 1
B X ¢ 1000 m 3 2.
YFEFar 27—k o ck=18N/mi m3 11 10.
7] AP 5 m2 9 8.
t=20cm m3 2 1.
HetE e RC-40 m2 8 8.
75 > 7 — b ¢ 1000 JL 1 1.
CO@%%?E [EI Co t=20cm * H#% t =20c m m2 20 19.
&)
WEL
WEERE A HP ¢ 1000 m 6 6.
(AAKFED) (HEAGER)
2Ly ) — R L 4BE 17 m3 49 22.2 + 19.3 = 41.
Gl
COEE ALy - SEf i m3 42 41.
MET
FRER AT R Hign A v mAA| & PT 2
BERRBERT ik i 1
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‘ i ESET] #EHL (W<1.0m) R ColfiE L (JEf) W om

iU PEOBE[Mr m ¥ B (W om W B & |\ Wrom | W =\ Wom R &
No. + 13.700 1.0 0.1 2.2 0.5
No. 6. 300 1.0 1. 00 6.3 0.1 0.10 0.6 2.2 2.20 13.9 0.5 0.50 3.2
No. 20. 000 1.0 1. 00 20.0 0.1 0.10 2.0 2.2 2.20 44.0 0.5 0.50 10.0
0.00
No. 20. 000 0.7 0. 85 17.0 0.1 0.10 2.0 1.5 1. 85 37.0 0.4 0. 45 9.0
m3 m3 m3 m3
m

g 46. 30 43. 3 4.6 94. 9 22.2
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‘ AL IH] IR 1 AR 1 .

M PEOBE[Wr m W K s (W m Y B =
No. 0 + 13.700 3.0 11.4
No. 1 6. 300 3.0/ 3.00 18.9 9.5 10.45 65. 8
No. 2 20. 000 3.1 3.05 61.0 3.2 6.35] 127.0
No. 3 20. 000 0.0, 1.55 31.0 0.0 1.60 32.0
m3 m3
m

g 46. 30 110.9 224. 8




ol IRV gV

)1 (m3) (m3) (m3)
HHEEE | 8 [ AR | L& | & EE A B | EE
87.6 578.9 368. 2 32.5
RAED +-mb 97.3 87.6 HEL W=1.0m 32.5
110.9
IR+ 2.5=W<4.O0m 110. 9
188.9 224. 8 224, 8
ikt 209.9 188.9 AR+ 2.5=W<4. Om 224. 8
Coffi 4 302. 4
=7 VHREl Il 336. 0 302. 4
210. 7
sy 234. 1 210. 7
VYE 1 0. 90
W 1 1.15
a1 1. 20




AMEEHERE (15)

‘ A TH] a7 ) —k iyl i Y () &% (REERD o
M PEOBE MW om ¥ B B W om W % B (W om | YW s | W o\ Y &
No. 5 + 13.700 12.1 8.4 5.2 4.8 NO. 517 i % B v
No. 6 6.300] 12.1 12.10 76. 2 8.4/ 8.40 52.9 5.2]  5.20 32. 8 4.8/ 4.80] 30.2
No. 6 + 18.000| 18.000| 12.1] 12.10] 217.8 8.4/ 8.40| 151.2 5.2]  5.20 93. 6 4.8 4.80|  86. 4|No. e e
0. 00
No. 6 + 18.000| 0.000[ 13.3 10.0 5.2 4.8 NO. 77 if % i Y
No. 7 2.000] 13.3 13.30 26.6| 10.0| 10.00 20.0 5.2]  5.20 10. 4 4.8/ 4.80 9.6
m3 m2 Hm?2 Hm?2
m
3 26. 30 320. 6 224. 1 136. 8 126. 2
\ AL TH] Fov 7 SRR CoffidfdIH __ t =200 _
U PEOBE[Wr ¥ & &= (W om W B s |l om Y B & |
[ B k1]
No. 5 + 13.700 2.1 2.2 0.5 0.0| 320.6 +26.3= 12. 2|NO. 5l i %k & v
12.19 x3pi= 36.57
No. 6 6. 300 2.1 2.10 13.2 2.2 2.20 13.9 0.5 0.50 3. 2| [ZH (RIK) ]
26.30 ~0.5=  52.60
No. 6 + 18.000] 18.000 2.1 2.10 37.8 2.2 2.20 39.6 0.5/  0.50 9.0 53.0 ><32|:— 159. 0|No. 67 i B e
[ 2 (BERRHERET) ]
No. 6 + 18.000| 0.000 0.0 3.6 0.5 26.30 =0. 5— 52. 60| No. 7l i i B v
53.0 X3A&=  159.0
No. 7 2. 000 0.0 0.00 0.0 3.6/ 3.60 7.2 0.5/  0.50 1.0| [1k/k#x]
5.20 x3&fF=  15. 60
m2 m3 m2| [2)y7 =]
m 11.0 x3f&= 33.00
g 26. 30 51.0 60. 7 13.2




AARF R (25 (1))

‘ AL IF] a7 ) —k iyl i Y () &% (REERD o
M BEOBE[WT m W K s (W om Y B s\l om W &l om B R s
No. 7 11.9 8.4 5.2 4.8
No. 8 20. 000 7.1/ 9.50/ 190.0 6.4 7.40] 148.0 4.2 4.70 94. 0 3.9/ 4.35 87.0
0. 00
m3 m2 Hm?2 Hm?2
m
2 20. 000 190.0 148. 0 94. 0 87.0
‘ AL TH] Fov 7 SRR CoffidfdIH __ t =200 .
M) A PEOBE[Wr o ¥ S &= (W om W B & |l om Y B & | |
[ B k1]
No. 7 2.3 2.2 0.5 190. 0 +20. 0= 9.5
9.50 x 1=  9.50
No. 8 20. 000 2.1 2.20 44. 0 1.5 1.85 37.0 0.5 0.50 10. 0| [0 (RK) ]
20.00 =0.5=  40.00
40.0 X34&=  120.0
[ =5 (BERRHERESR) ]
20.00 +=0.5=  40.00
40.0 X3A&=  120.0
[17kHR])
3.80 xofEff=  7.60
[2)y7" 1~ -]
8.0 x 2= 16. 00
m m2 m3 m?2
it 20. 00 44. 0 37.0 10.0
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BRSSPSR HIR  L=6. Im

BRL K18 Y
2. 3m2 5. 0m2
1 1

\Q 74 4

o s 7 S

6‘@ ~

40 1800 00860

860
@-@ r®

BESRFr SR K L6,

- BEER B R A  L=6. 1m

R

Tons T N Y
/
S % e . 7
° ° \\l llllllllll a0
100 2500 100 100 2700 100
i B[R ¥l X i & K HAL|H =
Mty T |HE/KI-2
KR MD—@ | V1=5.9%(0. 85%1/2+0. 4+1. 8) = 15.49| m3
@—@ | V2=6.1%2.9 = 17.69 m3
@—®@ | V3=7.9%(0. 2+1. 6+0. 4+0. 88%1/2) = 20.86 m3
TVi= V14+V2+V3 = 54.04 m3 |54.0
2y y— FEREEL @ @ Vi=a 1x4.32=0.55x%x4.32 = 2.38 m3
@—®@ | V2=a'2x3.7=2.32x6.1 = 14.15 m3
@—® | V3=a' 1x5.33=0.52x%x5.33 = 2.77 m3
TVi= V14V2+V3 = 19.30/ m3 [19.3
HBRL D—@ | V1=5.9%(0. 75%1/2+0. 4)+2. 3%1. 8 = 8.71 m3
@—@ | V2=2.9%2.9 = 8.41 m3
@ —®@ | V3= 2.5%(0.2+1.6)+7. 9% (0. 4+0. 78%x1/2) = 10.74 m3
TVi= V14V2+V3 = 27.86/ m3 (27.9




il g X 5 I " HL |3 2
oYy ) — FEEEIB| =200 A=10. 26+9. 25 = 19.51| m2 [19.5
[t 73 D6-150x150) A= 9. 34+8. 40 = 17.74  m2 \17.7
BEERERZE | HP @ 1000 L=6.1 = 6.100 m | 6.1
BEE#HE| ©1000 L=2.90 = 2.9 m| 29
7229775 —Fb ¢ 1000 | N= = 1.000 & 1.0
gy FTFarsy—+ V=|1.50%2. 50%2. 90 = 10.88 m3 |10.9
E L& A=|2%2.90%1. 50 = 870 m2| 8.7
HEERA| t=200 A=12. 70%3. 00 = 810 m2| 8.1
= 1.62m3| 1.6




